

## Govt. of Maharashtras Ismail Yusuf College of Arts, Science and Commerce.

Near Jogeshwari East Railway Station., Mumbai, Mumbai City, (Maharashtra),

Jogeshwari (E) - 400060

#### University of Mumbai Transfer Certificate



PRN:

2019016400990996

Transfer Certificate Code : AFDKAIBKBJAIKIIJII Transfer Certificate Number :

2019303175



CERTIFIED that Shri/ Kumari/ Smt. TIWARI ROHAN PREMPRAKASH has been a student of Govt. of Maharashtras Ismail Yusuf College of Arts, Science and Commerce..

• After Passing the **B.Com.**Examination in the year **2021-2022**, He has kept terms in the college as under:

- He would have been in the class if He had continued in this college.
- He Passed/ Failed/ ATKT at the **T.Y. B.Com. Regular Rev16** Examination held in (March/October) **2021-2022.**
- He has no books belonging to this college in His possession.
- He owe nothing on account of college dues.
- His conduct and character are good.
- His Date of Birth in college register is 17 Nov 2000
- He has attended courses of instruction at this college in Voluntary Subjects or Group of Subjects:-
- He has satisfactorily carried out the practical work in Faculty of Commerce
- He has satisfactorily gone through the course of Physical Training prescribed by the University. He was exempted from physical training on medical grounds/ on the ground of His being a member of NCC.

a Reseasch

· He belongs to Category: Open as per record.

Date: 12/12/2022

Forward with compliments to the Principal/Registrar Thakur Inshit

Principal PRINCIP

Govt. of Maharashkrasnishhili Yusah Coffege of Arts, Science and Compagnet usuf College

Arts, Science & Commerce,
Checked by (Last), Mumbai - 400 069.

Entered By :-

Note: Transfer Certificate code given above will be required to admit the student in Digital College® software.

Sur

Page No.	140
Date	- 1

	Application for To	VIVEY (ET) IFICE	()-C
	+	7.7	7-Dec-20
To	Inward N	5173	
The Principal,		112/22	विरेयापाठ नि
Ismail YUSUF (	1110		101211111
Ismail Coffeye	기능과 가게 됐다면 하나 가는 그리고 있다.		/
Natuar Naga			Q:12. W
Joyechuan (E	2)		8.12. N
_			
Sub:	= Request for T	runfer (extifi	cate.
Respected STV/	Madem,		
		<u> </u>	
[10] 전 10[40] 전 10 H	due respect, I		
	etter for my t		
The state of the s	empleted my B.C	om and Ir	eed my TC to
John in furtho	er courses.		
1 -			
			Blue my Transfer
CESHFICANE, I	I shall be thank	ful to you 4	h thes mutter.
		V	ours Faithfully
			han Truck,
The second secon			
		1 (01	110:-21TC328
			11W:-21TC328 892034771
JUSUF CO.	holhed		
AUSUF COLLEGE	Chelhed		
JUSUP CO	helhed		
JSUP CO	John Jan		
JSUP CO	Chelhed Saul 22		

	m:- (Name of Student & Address)
	Rohan Tiwari.
	Roomoz Bajpai chawl
	Grunpha road Pratraption.
	To,
	The Principal (Previous Degree College Name & Address)
	Isnail Yusuf college.
)	Israil ollege apps, Natura
	Najar Jageshuari east
	Respected Sir / Madam,
	I had studied for Rohan BrowCourse in Division in your College during the years
	and passed in the Academic Year 2022. My Roll Number was
	in the Final Year and Examination Seat Number was 106 3031. My date of Birth is 17 Nov 2000
	I have taken admission to the MMS Course in Thakur Institute of Management Studies & Research,
	Randivan (East), Mumbai. Hence, I request you to send my Transference Certificate to the Director of
	the said Institute.
-	Thanking you,
	Yours obediently,
	Rohan Truary
	Rohan Tenari Sime: (Name of Student & Signature)
	(14 anie of Student & Signature)
	Forwarded with compliments
	Wewageway!
1	TIMS.R. S. TUSUF
	Trector (E). 30 (E)
(	C-Block, Shyamnarayan Thakur Marg,
	O W COMP

Thakur Village, Kandivali (East), Mumbai – 400101





## PRINCIPAL ISMAIL YUSUF SENIOR COLLEGE

GOVT OF MAHARASHTRAS ISMAIL YUSUF OLLEGE OF ARTS SCIENCE COMMERCE JOGESHWARI EAST MUMBAI , , MUMBAI-400060

Date: 07-Dec-2022

## e-Receipt for State Bank Collect Payment

SBCollect Reference Number	DUK2712416
Category	BONAFIED NOC AND T C FEES
FIRST NAME	Rohan
MIDDLE NAME	Premprakash
LAST NAME	Tiwari
DATE OF BIRTH	17/11/2000
GENDER	MALE
CATEGORY	GENERAL
MOBILE NO	9892034775
COURSE	B.com
BONAFIED FEES, NOC FEES, T C FEES	100
Transaction charge	0.00
Total Amount (In Figures)	100.00
Total Amount (In Words)	Rupees One Hundred Only
Remarks	For Transfer certificate.
Notification 1	BONAFIED FEES 20, NOC FEES 20, T C FEES 100
Notification 2	PRINT COPY AND SUBMIT TO COLLEGE

## बृहन्मुंबई महानगरपालिका P. MUNICIPAL CORPORATION OF GREATER MUMBAI

सार्वजनिक आरोग्यखाते / Public Health Department नमुना क. ९/ FORM NO.9

(महाराष्ट्र जन्म - मृत्यु नोंदणी नियमावली , १९७६ , नियम ९ कृपया पहावा)

(See Rule 9 of the Maharashtra Registration of Births & Deaths Rules, 1976)

## जीवित जन्माचे नोंदणी प्रमाणपत्र / CERTIFICATE OF BIRTH

जन्म-मृत्यु नोंदणी अधिनियम १९६९, कलम १२/१७ च्या अनुरोधाने

Issued under section 12/17 of the Registration of Births and Deaths Acts, 1969. "

असा दाखला देण्यात येतो की, खाली नमूद केलेली माहीती बृहन्मुंबई महानगर पालिकेच्या आहे

ोभागाच्या मूळं पुस्तकातून घेतलेली

This is to certify that the following information has been taken from the original record of Birth, which is in the register for FN ward of Brihanmumbai Mahanagarpalika.

नांव

Name

ROHAN

लिंग Sex

MALE

जन्म दिनांक

Date of Birth

17.11.2000

नोंदणी क्रमांक

11912

जन्म ठिकाण

Place of Birth

SHRADDHA CLINIC

नोंदणी दिनांक

Registration No.

Registration Date

31.12.2000

वडिलांचे नांव

Name of Father

PREM PREKASH TIWARI

आईचे नांब

Name of Mother EINA

वडिलांचा / आईचा कायम वास्तव्याचा पूर्ण पत्ता

Permanent Address of Father / Mother

PARVATHI BHAI CHAWL, R NO 10 NAVJALA HAJHABU ROAD, MALAD [E]

MUMBAI

400097

वडिलांचे आईचे राष्ट्रीयत्व

Nationality of Father / Mother INDIAN / INDIAN

(M. B. B. B. B.

वली देंगी-याची सही, ११० अवर्ध

signature of the (same Authority

47 647

दिनांक

Date 17.03.200





## **ISMAIL YUSUF COLLEGE**



1643007

Student Id

(Affiliated to University of Mumbai) JOGESHWARI STATION ROAD, JOGESHWARI - EAST, MUMBAI - 400 060

#### **GRADE CARD**

PROGRAMME: BACHELOR OF COMMERCE SEMESTER: I **Month & Year of Examination** Name of the Learner **Examination Seat No.** PRN/Reg. No. **TIWARI ROHAN PREMPRAKASH BINA REGULAR ATKT 2020** 414 2019016400990996 Credits Grade SGPI= Grade CG= Course Course **Earned Points** ΣCG / **Course Title** CxG **Credits** Code TH/PR IA **OVERALL** (C) (G) ΣC ACCOUNTANCY AND FINANCIAL MANAGEMENT - I 3.00 A\$ A 3.00 8 24.00 UBCOMFSI.1 COMMERCE - I (BUSINESS DEVELOPMENT) 3.00 D\$ D 3.00 12.00 UBCOMFSI.2 4 **BUSINESS ECONOMICS - I** 3.00 D\$ D 3.00 12.00 UBCOMFSI.3 **BUSINESS COMMUNICATION - I** B\$ ---B 3.00 6 18.00 5.00 3,00 **UBCOMFSI.4 ENVIRONMENTAL STUDIES - I** D\$ D 3.00 12.00 3.00 UBCOMFSI.5 MATHEMATICAL AND STATISTICAL TECHNIQUES - I 3.00 D 3.00 4 12.00 UBCOMFSI.6 FOUNDATION COURSE - I D\$ A+\$ C 2.00 10.00 2.00 UBCOMFSI.7 ΣCG= SGPI= Earned Credits: 20.00 20.00 Remarks: SUCCESSFUL 100.00 5.00 SEMESTER III SEMESTER IV SEMESTER I SEMESTER II SGPI = ---Credits Earned = ---SGPI = --SGPI = 5.00 Credits Earned = ---Credits Earned = ---Credits Earned = 20.00 SGPI = ---Overall Grade = C SEMESTER V SEMESTER VI

Place: Mumbai

Credits Earned = ---

Date: 22/07/2020

Checked By:

Credits Earned = ---

SGPI = ---

SGPI = -

Seal of the College

(Refer to grade table at the back)

F: Head of Failure, AB: Absent, ---: Not Applicable, @: 5043, #: 0.229, \$: Carried Forward, /: Female



## **ISMAIL YUSUF COLLEGE**



(Affiliated to University of Mumbai) JOGESHWARI STATION ROAD, JOGESHWARI - EAST, MUMBAI - 400 060

#### **GRADE CARD**

Student Id 1643007

PROGRAMME :	BACHELOR OF CO	MMERCE							SEMES.	TER : II	
PRN/Reg. No. Examination Seat No. Name of the Learner							Month & Year of Examination			ation	
201901	6400990996	414	TIWAR	TIWARI ROHAN PREMPRAKASH BINA				REGULAR MARCH 2020			10
			Course		Gr	rade		Credits Earned	Grade Points	CG=	SGPI=
Course Code		Course Title	Credits	TH/PR		IA	OVERALL	(C)	(G)	CxG	ΣC
UBCOMFSII.1	ACCOUNTANCY A	ND FINANCIAL MANAGEMENT - II	3.00	Α.	1074		Α	3.00	8	24.00	
UBCOMFSII.2	COMMERCE - I (B	USINESS DEVELOPMENT)	3.00	C			С	3.00	5	15.00	
UBCOMFSII.3	BUSINESS COMMUNICATION - II		3,00	В	7		В	3.00	6	18.00	
UBCOMFSII.4	BUSINESS ECONOMICS - II		3.00	6 F A		/	Α	3.00	8	24.00	5.9
UBCOMFSII.5	ENVIRONMENTAL	STUDIES - II	3.00	D			D	3.00	4	12.00	
UBCOMFSII.6	MATHEMATICAL A	AND STATISTICAL TECHNIQUES - II	3.00	D			D	3.00	4	12.00	
UBCOMFSII.7	FOUNDATION CO	URSE - II	2.00	<b>B</b> :-		Α	B+	2.00	7	14.00	
Remarks : S	SUCCESSFUL		20.00	A CONTRACTOR	Earne	d Cred	its : 20.00			ΣCG= 119.00	SGPI= 5.95
SE Credits Earned =	MESTER I 17.00 SGPI =	SEMESTER II Credits Earned = 20.00 SGPI =	Co. To the same	MESTER III	SGPI =	Credits I	SEMESTER IV	SGPI =	Overall	Grade =	С
SE Credits Earned =	MESTER V	SEMESTER VI Credits Earned = SGPI =	(And Andrews	PORTUGUES AND	en de la companya de						

Place : Mumbai

Date: 20/07/2020

Chairperson, Exam. Committee

Seal of the College

Principal

F: Head of Failure, AB: Absent, ---: Not Applicable, @: 5043, #: 0.229, \$: Carried Forward, /: Female

(Refer to grade table at the back)



## ISMAIL YUSUF COLLEGE





Student Id 1643007

#### **GRADE CARD**

PROGRAMME :	BACHELOR OF CO	MMERCE						SEMEST	TER : III	
PRN	PRN/Reg. No. Examination Seat No.			Name of the Learner				Month & Year of Examination		
201901	6400990996	20SC 347	TIWARI	ROHAN PREMP	RAKASH BIN	A	REGULAR DECEMBER 2020			
	Course Course Title		Course		Grade		Credits Grade		nts C x G	SGPI=
			Credits	TH/PR	IA	IA OVERALL		Points (G)		ΣCG /
UBCOMSSIII.1	ACCOUNTANCY A	ND FINANCIAL MANAGEMENT - III	3.00	A+	242	A+	3.00	9	27.00	
UBCOMSSIII.2	FINANCIAL ACCOUNTING & AUDITING -I		3.00	0	- <del></del>	0	3.00	10	30.00	
UBCOMSSIII.3	COMMERCE - III		3.00	O	-	0	3.00	10	30.00	
UBCOMSSIII.4	BUSINESS ECONOMICS - III		3.00	. 0	+	0	3.00	10	30.00	9.85
UBCOMSSIII.5	BUSINESS LAW -	III	3.00	0	A. 75	0	3.00	10	30.00	
UBCOMSSIII.6	ADVERTISING		3.00	0	-4	0	3.00	10	30.00	
UBCOMSSIII.7	FOUNDATION COURSE - III		2.00	0	С	0	2.00	10	20.00	
Remarks : S	SUCCESSFUL		20.00		arned Cred	its : 20.00			ΣCG= 197.00	SGPI= 9.85
SEI Credits Earned =	MESTER I 20.00 SGPI = 5	SEMESTER II .00 Credits Earned = 20.00 SGPI =	SEI 5.95 Credits Earned	MESTER III = 20.00 SGPI	= 9.85 Credits E	SEMESTER IV arned =	SGPI =	Overall	Grade =	Λ.
	MESTER V	SEMESTER VI		of Contract of State of Laboratory	198			Overall	Grade -	MT



Credits Earned = ---

Place : Mumbai

Date: 15/02/2021

SGPI = ---

Checked By:

Credits Earned = ---

SGPI = ---



Seal of the College

Principal

F: Head of Failure, AB: Absent, ---: Not Applicable, @: 5043, #: 0.229, \$: Carried Forward, /: Female

(Refer to grade table at the back)



## **ISMAIL YUSUF COLLEGE**



Student Id 1643007

(Affiliated to University of Mumbai)

JOGESHWARI STATION ROAD, JOGESHWARI - EAST, MUMBAI - 400 060

#### · GRADE CARD

PROGRAMME	BACHELOR OF CO	MMERCE		190				SEMES	TER: IV	
PRN	PRN/Reg. No. Examination Seat No.			Name of the Learner				Month & Year of Examination		
201901	6400990996	20SC 347	TIWARI	ROHAN PREMP	RAKASH BIN	IA	REGULAR APRIL 2021			
Course			Course		Grade		Credits	Grade	CG=	SGPI=
Code		Course Title	Credits	TH/PR	IA	OVERALL	Earned (C)	Points (G)	CxG	ΣCG / ΣC
UBCOMSSIV.1	ACCOUNTANCY AND FINANCIAL MANAGEMENT - IV		3.00	A	<u>-0</u> -	Α .	3.00	8	24.00	
UBCOMFSIV.2	FINANCIAL ACCOUNTING & AUDITING-II		3.00	Α		A	3.00	8	24.00	
UBCOMFSIV.3	COMMERCE-IV I		3.00	0	-	0	3.00	10	30.00	
UBCOMFSIV.4	BUSINESS ECONOMICS - IV		3.00	Α		Α	3.00	8	24.00	9.00
UBCOMFSIV.5	BUSINESS LAW - I		3.00	0		0	3.00	10	30.00	
UBCOMFSIV.6	ADVERTISING- II		3.00	0		0	3.00	10	30.00	
UBCOMFSIV.7	FOUNDATION COL	JRSE - IV	2.00	0	С	A+	2.00	9	18.00	
Remarks : S	SUCCESSFUL		20.00	E	arned Cred	lits : 20.00			ΣCG= 180.00	SGPI= 9.00
SEI Credits Earned =	MESTER I 20.00 SGPI = 5.0	SEMESTER II  O Credits Earned = 20.00 SGPI = 5.	SEI 95 Credits Earned	MESTER III = 20.00 SGPI	= 9.85 Credits	SEMESTER IV Earned = 20.00	SGPI = 9.00	Overall	Grade =	Λ.4.
SE Credits Earned =	MESTER V SGPI = -	SEMESTER VI Credits Earned = SGPI = -						Overall	Grade =	



Place : Mumbai

Date: 29/04/2021

Checked By:

mylhals

Chairperson, Exam. Committee



Seal of the College

Spianhal

Principal



## University of Mumbai **GRADE CARD**

CCF:0086:0262

: TIWARI ROHAN PREMPRAKASH BINA

Examination

: Third Year B.Com. (Semester-V)(CBCS)

Held In

: NOVEMBER 2021

Seat Number

: 4113061 (PRN:2019016400990996)

Course Code	Course Title	Maximum Marks	Minimum Marks	Marks Obtained	Credits (C)	Grade	Grade Points (G)	CxG
23114	Commerce-V	100	40	88	3.00	0	10	30.00
23113	Business Economics-V	100	40	76	3.00	A+	9	27.00
23101	Financial Accounting & Auditing VII- Financial Accounting	100	40	56	4.00	В+	7	28.00
23107	Financial Accounting & Auditing VIII- Cost Accounting	100	40	60	4.00	Α		32.00
23115	Direct & Indirect Taxation Paper -I	100	40	72	3.00	A+	9	27.00
23132	Marketing Research Paper-I	100	40	56	3.00	B+	7	21.00

Remark: SUCCESSFUL

SGPI: 8.25

600

Result Declared On: FEBRUARY 05, 2022

**GRAND TOTAL** 

20.00

408

**BOARD OF EXAMINATIONS AND EVALUATION** 



165.00

# University of Mumbai GRADE CARD

Name

: TIWARI ROHAN PREMPRAKASH BINA

Examination

: Third Year B.Com. (Semester-VI) (CBCS)

Held In

: APRIL 2022

**Seat Number** 

: 1063031 (PRN:2019016400990996)



CCF:0086:0313

<b>Course Code</b>	Course Title	Maximum	Minimum	Marke	<b>a</b>			****
		Marks	Marks	Marks Obtained	Credits (C)	Grade	Grade Points .(G)	Cxc
83014	Commerce-VI	100	40	88	3.00	0	10	30.00
83013	Business Economics- VI	100	40	76	3.00	A+	9	27.00
83001	Financial Accounting & Auditing IX- Financial Accounting	100	40	50	4.00	В	6	24.00
83007	Financial Accounting & Auditing X- Cost Accounting	100	40	40	4.00	, D	4	16.00
83015	Direct & Indirect Taxation Paper -II	100	40	94	3.00	0	10	30.00
83037	Marketing Research Paper-II	100	40	70	3.00	A+	9	27.00
	GRAND TOTAL	600		418	20.00			154.00

Sem. I CRED.: 20.00 SGPI: 5.00 Sem. IV CRED.: 20.00 SGPI: 9.00

Sem. II CRED.: 20.00 SGPI: 5.95 Sem. V CRED.: 20.00 SGPI: 8.25

Sem. III CRED.: 20.00 SGPI: 9.85 Sem. VI CRED.: 20.00 SGPI: 7.70

Remark: SUCCESSFUL

**CGPI: 7.63** 

Relit Declared On : JUNE 10, 2022

DIRECTOR BOARD OF EXAMINATIONS AND EVALUATION



Think







## PRINCIPAL ISMAIL YUSUF SENIOR COLLEGE

GOVT OF MAHARASHTRAS ISMAIL YUSUF OLLEGE OF ARTS SCIENCE COMMERCE JOGESHWARI EAST MUMBAI , , MUMBAI-400060

Date: 10-Aug-2021

## e-Receipt for State Bank Collect Payment

SBCollect Reference Number	DUF5409994	
Category	T.Y.B.COM ADMISSION FEES (	OPEN CATEGORY)
FIRST NAME	Rohan	
MIDDLE NAME	Premprakash	
LAST NAME	Tiwari	
MOBILE NO.	9892034775	
DATE OF BIRTH	17112000	
COURSE	T.Y.Bcom	
CATEGORY	Open	
GENDER	Male	
ADMISSION FORM NO	257	
PRN NO.	2019016400990996	
TUITION FEES	800	
LIBRARY FEES	200	
GYMKHANA FEES	200	
OTHER FEES	250	
ADMISSION PROCESSING FEES	200	
JTILITY FEES	250	
MAGAZINE FEES	100	
DENTITY CARD	50	
GROUP INSURANCE	20	
STUDENT WELFARE FUND	C GO	
DEVELOPMENT FUND	500	

VICE CHANCELLOR	20
UNIVERSITY CULTURAL ACTIVITY	30
E CHARGES	20
E SUVIDHA	50
ALUMNI CHARGES	25
DISASTER RELIEF FUND	10
Transaction charge	0.00
Total Amount (In Figures)	2,775.00
Total Amount (In Words)	Rupees Two Thousand Seven Hundred Seventy Five Only
Remarks	
Notification 1	RS 20 ON A POLICY OF RS 50000
Notification 2	







## PRINCIPAL ISMAIL YUSUF SENIOR COLLEGE

GOVT OF MAHARASHTRAS ISMAIL YUSUF OLLEGE OF ARTS SCIENCE COMMERCE JOGESHWARI EAST MUMBAI , , MUMBAI-400060

Date: 21-Jan-2022

## e-Receipt for State Bank Collect Payment

SBCollect Reference Number	DUI4169485			
Category	REGULAR EXAM SEM VI SUMMER 2022			
FIRST NAME	Rohan			
MIDDLE NAME	Premprakash			
LAST NAME	Tiwari			
GENDER	Male			
DATE OF BIRTH	17/11/2000			
MOBILE NO	9892034775			
PRN NO	2019016400990996			
CATEGORY	Open			
CLASS	T.Y.Bcom			
REGULAR EXAM FEES SEM VI SUMMER 2022	1044			
Transaction charge	0.00			
Total Amount (In Figures)	1,044.00			
Total Amount (In Words)	Rupees One Thousand Forty Four Only			
Remarks	Examination Fees			
Notification 1	EXAM FEE 794			
Notification 2	CONVOCATION FEES 250			

